Optoelectronic Engineering 11

Homework #3 Answer

(Due date: 2017/03/16)
1. (40 %)
A piece of ZnSe (n2=2.6) with a thickness of 1 um is put in air (n1=1). The normal incidence reflectivity
is dependent upon the refractive indices of the two media. The reflectivity R can be calculated by
Fresnel’s equation (FY|: http://hyperphysics.phy-astr.gsu.edu/hbase/phyopt/reflco.html), which is
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The optical phase difference can be expressed as

27n,L _ 270, (2d)

A
where L is the total round-trip path length, d is the thickness of ZnSe.
The transmission curve becomes
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2. (20 %)
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3. (40 %)
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